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% (%g%} é One-Variable Linear Equations (ax+b=c)
Name: Date: Score:
L sy—2=133 > ex—5=7 4+ 6=130
Y 3xtr4a=16 > 4x—6=18 O p—7=7
7. . 8. . 0. .

4x+ 8 =28 4x+ 6 =138 4x + 6 =30
0 ex+8=62 gy —3=137 2 v+ 4=16
B e+ 3=31 o+ 6=18 B 54 3= 48
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One-Variable Linear Equations (ax+b=c)

Name:

L sx—2=133
x=17

T 3x+4=16
x=4

! 4x+8=128
x=15

0 ex+8=62
x=9

B e+ 3=31
x=4

6x—5=7
x=2
dx—6=18
xX=6
4dx+ 6 =38
x=28
8&—3=137
x=35
2x+6=18
xX=6

Date:

(OS]
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Score:

dx+ 6 =30
xX=6
2x—=T=17
x=17
dx+ 6 =30
xX=6
8x+4="76
x=9
S5x+ 3 =48
x=9
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